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THM 415: Finance

Midterm Exam Answer Sheet
1. “General Partners face limited liability for firm’s debts.” Do you agree with this statement? Why? Why not? (2 Points)

No, I don’t agree with this statement. In fact, since general partners actively run the business, they should be responsible for whatever decisions they take. Hence, they should be faced with unlimited liability as far as firm’s debts are concerned.

2. Gomez Hotel had recorded the following income statement accounts sorted in alphabetical order:

	Cost of Goods Sold
	$2,240,300.00

	Interest Expenses
	$375,375.00

	Operating Expenses
	$404,521.00

	Sales
	$6,710,462.00


Moreover, since Gomez Hotel owns 64 % shares of Mario Company, it is entitled to $ 1,050,840 of dividends income from that very company.

The following table reveals Income Tax Rates for Corporate Income for 2014 fiscal year:

	Taxable Income
	Marginal Tax Rate

	
	

	$ 0 – $ 225,000
	15%

	$ 225,001 - $ 450,000
	17%

	$ 450,001 - $ 750,000
	19%

	$ 750,001 - $ 1,225,000
	21%

	$ 1,225,001 - $ 1,600,000
	25%

	$ 1,600,001 - $ 1,833,333
	26%

	Over $ 1,833,333
	30%


Lastly, the following table shows dividend income exclusion to avoid double taxation at corporate level.

	Ownership Interest
	Dividend Exclusion

	 
	

	Less than 20 %
	20%

	20 % to 45 %
	40%

	45 % to 60 %
	60%

	60 % to 80 %
	80%

	80 % and more
	100%


a) Construct Gomez Hotel Income Statement for the year ended December 31st, 2014. (2 Points)

[image: image1.emf]Sales $6,710,462

   Cost of Goods Sold (less)$2,240,300

Gross Profits$4,470,162

   Operating Expenses (less)$404,521

Net Operating Income (EBIT)$4,065,641

   Interest Expense (less)$375,375

Earnings Before Taxes (EBT)$3,690,266

Taxable Dividends Income$210,168

   Income Taxes (less)$1,003,297

Net Income$2,686,969
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Moreover, the following is Gomez Hotel’s comparative balance sheet as of December 31st, 2013 and December 31st, 2014:

[image: image2.emf]20132014Change

Assets

  Current Assets

Cash$3,264,870$4,050,600$785,730

Marketable Securities$175,175$316,310$141,135

Accounts Receivable$224,700$576,510$351,810

Inventory$650,020$702,005$51,985

Other Current Assets$13,500$14,579$1,079

  Total Current Assets$4,328,265$5,660,004$1,331,739

Gross Plant & Equipment$1,650,000$1,942,025$292,025

   Accumulated Depreciation (less)$775,414$880,500$105,086

Net Plant and Equipment$874,586$1,061,525$186,939

   Total Assets$5,202,851$6,721,529$1,518,678

Liabilities & Owner's Equity

   Current Liabilities

Accounts Payable$450,848$201,400($249,448)

Accrued Expenses$126,893$130,150$3,257

Short-term Notes$356,210$340,580($15,630)

   Total Current Liabilies$933,951$672,130($261,821)

Long-term Debt$750,700$250,000($500,700)

Total Liabilities$1,684,651$922,130($762,521)

Common Stockholders' Equity 

Common stock - Par Value$900,000$925,000$25,000

Paid in Capital$741,150$790,900$49,750

Retained Earnings$1,877,050$4,083,499$2,206,449

   Total Common Stockholders' Equity$3,518,200$5,799,399$2,281,199

   Total Liabilities & Stockholders' Equity$5,202,851$6,721,529$1,518,678
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Lastly, Gomez Hotel’s board of directors decided to distribute $ 480,520 to shareholders as dividends.

b) Construct Gomez Hotel Statement of Cash Flow for the year ended December 31st, 2014. (4 Points)

 [image: image3.emf]Ending cash balance for 2013 (beginning balance for 2014)$3,264,870

Operating Activities

Net income$2,686,969

   Increase in accounts receivable($351,810)

   Increase in inventories($51,985)

   Increase in other current assets($1,079)

   Depreciation expense$105,086

   Decrease in accounts payable($249,448)

   Increase in accrued expenses$3,257

          Cash flow from operating activities$2,140,990

Investing Activities

   Purchases of plant & equipment($292,025)

          Cash flow from investing activities($292,025)

Financing Activities

   Increase in marketable securities($141,135)

   Decrease in short-term notes($15,630)

   Decrease in long-term debt($500,700)

  Increase in common stock (Par Value)$25,000

   Increase in common stock (Paid In Capital)$49,750

   Cash dividendts paid to shareholders($480,520)

          Cash flow from financimg activities($1,063,235)

Increase (decrease) in cash during the year$785,730

Ending cash balance for 2014$4,050,600

Gomez Hotel

Statement of Cash Flow

For the Year Ended December 31

st

, 2014


c) Calculate the Quality of Earnings. (1 Point)

· Quality of Earnings = Cash Flow from Operations / Net Income = 2,140,990 / 2,686,969 = 79.68 %.
d) Calculate the Capital Acquisition Ratio. (1 Point)

· Capital Acquisition Ratio = Cash Flow from Operations / Cash Paid for Capital Expenditure (CAPEX) = 2,140,990 / 292,025 = 7.33 times.
e) Based solely on the cash flow statement prepared in part b), write a brief narrative that describes the major activities of Gomez Hotel in year 2014. (2 Points)

Cash flow from operating activities:

· Gomez Hotel has positive cash flows from operating activities.

· The primary contributors to the operating cash flows were net income and depreciation expense.

· Accounts Receivables, Inventory, Other Current Assets, and Accounts Payable are the contributors of cash usage.

Cash flow from investing activities:

· Gomez Hotel invested $ 292,025 in purchasing fixed assets. This is roughly 13.64 % of the total cash flow generated from operations.

Cash flow from financing activities:

· Gomez Hotel has negative cash flows from financing activities.

· All cash outflow went for payment of long-term debt, investing in short-term investment tools, payment of short-term notes and as payment of already declared dividends.

· Cash inflow is generated from issuance of common stocks to the public (at par) and from paid-in capital.
3. Suppose you would like to triple your investment. For this purpose, you deposited in a bank $ 10,278.07 to be compounded semi-annually at an interest rate of 5.45 %. Calculate the period needed to reach your objective? (1 Point)

· Interest Rate = 5.45 % / 2 = 2.725 %; Present Value = - $ 10,278.07; Payment = $0; Future Value = $ 30,834.21.

Answer: Nper (2.725 %, 0, -10278.07, 30834.21) / 2 = 20.43 Years.

· It would take 20.43 years for an investment of $ 10,278.07 to triple at an annual interest rate of 5.45 % compounded semi-annually.
4. After examining the various interest rates opportunities, you find that you can borrow from a finance company at 7.02 % compounded weekly, from bank A at 7.00 % compounded daily or from Bank B at 6.99 % compounded continuously. Which alternative is the most attractive? Why? (1 Point)

· Borrowing from a Finance Company: Effective Annual Rate = Effect (7.02 %, 52) = 7.27 %.

· Borrowing from bank A: Effective Annual Rate = Effect (7.00 %, 365) = 7.25 %.

· Borrowing from bank B: Effective Annual Rate = e6.99% - 1 = 7.24 %.

→ Since I am borrowing, I shall choose the offer that has the lowest Effective Annual Rate. Therefore, I shall borrow from bank B.

5. Radosevic wanted to buy a luxury brand car that costs $ 378,000. He took a 5-year mortgage loan with semi-annual payments at an annual rate of 9.03 %.

a) How much will Radosevic pay each period? (1 Point)

Interest = 9.03 % / 2 = 4.515 %, Period = 5 * 2 = 10; Present Value = $ 378,000; Future Value = $ 0

Answer: Payment (4.515 %, 10, 378000, 0) = $ - 47,806.43.

b) Fill in the amortization schedule. (3 Points)

	Period
	Amount Owed on the Principal (Beg. Period) ($)
	Annuity Payment ($)
	Interest Portion of the Annuity ($)
	Repayment of the Principal Portion of the Annuity ($)
	Outstanding Loan Balance ($)

	
	
	
	
	
	

	1
	378,000.00
	47,806.43
	17,066.70
	30,739.73
	347,260.27

	2
	347,260.27
	47,806.43
	15,678.80
	32,127.63
	315,132.63

	3
	315,132.63
	47,806.43
	14,228.24
	33,578.19
	281,554.44

	4
	281,554.44
	47,806.43
	12,712.18
	35,094.25
	246,460.19

	5
	246,460.19
	47,806.43
	11,127.68
	36,678.76
	209,781.43

	6
	209,781.43
	47,806.43
	9,471.63
	38,334.80
	171,446.63

	7
	171,446.63
	47,806.43
	7,740.82
	40,065.62
	131,381.02

	8
	131,381.02
	47,806.43
	5,931.85
	41,874.58
	89,506.43

	9
	89,506.43
	47,806.43
	4,041.22
	43,765.22
	45,741.22

	10
	45,741.22
	47,806.43
	2,065.22
	45,741.22
	0.00


c) Suppose that exactly after 2 years, mortgage interest rates fell to 8.50 %. If Radosevic has the chance to refinance his loan at that very interest, how much would he pay (on a semi-annual basis) for the remaining 3 years of the loan? (2 Points)

Interest = 8.50 % / 2 = 4.25 %, Period = 3 * 2 = 6; Present Value = $ 246,460.19; Future Value = $ 0

Answer: Payment (4.25 %, 6, 246460.19, 0) = $ - 47,398.56.
d) If such a refinance opportunity is associated with paying a prepayment penalty fee to the bank of $ 2,250, would Radosevic refinance his loan? Why? Why not? (2 Points)

The answer to this question lies in coming up with cash flow increments by taking the difference of cash flows (for each of the following remaining 3 years) between the first scenario (i.e. continuing paying $ 47,806.43) and second scenario (i.e. paying $ 2,250 as a penalty in year 0, and saving $ 407.87 for the remaining 3 years). To sum up, the following table reveals the cash flow increments from opting for the second scenario:
[image: image4.emf]PeriodCash FlowPresent Value

0($2,250.00)($2,250.00)

1$407.87$391.24

2$407.87$375.29

3$407.87$360.00

4$407.87$345.32

5$407.87$331.24

6$407.87$317.74

Total($129.17)


As can be seen from the above table, paying $ 2,250 as a pre-payment penalty but start saving $ 407.87 for the remaining 3 years (i.e. 47,806.43 – 47,398.56) would yield a negative return. Hence, Radosevic should not re-finance the mortgage loan since he will be worse off in the second scenario.

6. BJK Corporation expects to generate the following cash flows for the next 10 years from its renovated Vodfone Stadium:

· ($ 5,450,000) now.

· $ 3,250,000 at the end of year 1 through 4

· ($ 900,020) at the end of year 5

· $ 3,750,000 at the end of year 6 through 9

· $ 1,050,060 at the end of year 10

Follow steps shown in class by your instructor to find the present value of these estimated cash flows (Show all necessary calculations) if the prevailing interest rate is 9.95 %? (2 Points)

Single Cash Flow 1: Present Value = - 5,450,000 / (1 + 9.95 %)^0 = - $ 5,450,000.

First Annuity:

Interest Rate = 9.95 %; Period = 4; Payment = $ 3,250,000; Future Value = $ 0

Answer: - PV (9.95 %, 4, 3250000, 0) = $ 10,313,223.02.

Bringing this very value to t = 0 would give us 10,313,223.02 / (1 + 9.95 %)^0 = $ 10,313,223.02.

Single Cash Flow 2: Present Value = - 900,020 / (1 + 9.95 %)^5 = - $ 560,113.44.

Second Annuity:

Interest Rate = 9.95 %; Period = 4; Payment = $ 3,750,000; Future Value = $ 0

Answer: - PV (9.95 %, 4, 3750000, 0) = $ 11,899,872.72.

Bringing this very value to t = 0 would give us 11,899,872.72 / (1 + 9.95 %)^5 = $ 7,405,700.56.

Single Cash Flow 3: Present Value = 1,050,060 / (1 + 9.95 %)^10 = $ 406,688.39.
Therefore, the present value of the complex cash flow is – 5,450,000 + 10,313,223.02 – 560,113.44 + 7,405,700.56 + 406,688.39 = $ 12,115,498.54.

7. Upon evaluation of the distribution of returns of Q17 company, the following possible rate of returns for the upcoming period as long as their probability of occurrence are estimated:

	Probability of Occurrence
	Rate of Return on Investment

	
	

	5%
	-24.45%

	10%
	-7.56%

	15%
	2.25%

	22%
	5.65%

	18%
	8.18%

	16%
	10.03%

	14%
	20.02%


a) Calculate the Expected Rate of Return of Q17 Company stock. (1 Point)

· Expected Rate of Return = (5 % * - 24.45 %) + (10 % * - 7.56 %) + (15 % * 2.25 %) + (22 % * 5.65 %) + (18 % * 8.18 %) + (16 % * 10.03 %) + (14 % * 20.02 %) = 5.48 %.
b) What is the risk of the investment in Q17 Company stock as measured using the standard deviation of possible future rates of return? (2 Points)

[image: image5.emf]Probability of OccurrenceRate of Return on Investment

ProductStep 2Step 3

5%-24.45%

-1.22%0.089592460.004479623

10%-7.56%

-0.76%0.017009380.001700938

15%2.25%

0.34%0.001044580.000156687

22%5.65%

1.24%2.8224E-066.20928E-07

18%8.18%

1.47%0.000727920.000131026

16%10.03%

1.60%0.002068430.000330949

14%20.02%

2.80%0.021135340.002958948

100%Expected Rate of Return5.48%Step 1

Variance0.98%

Standard Deviation9.88% 


8. Alexander bought some stocks of Beck Company worth of $ 750,000 8 years ago. Following is the beginning value of Beck’s bought stocks 8 years ago as well as the values at the end of each year up until today (the end of year 8):

	Year
	Annual Rate of Return
	Stock Value ($)

	
	
	

	0
	 
	750,000.00

	1
	4.42%
	783,150.00

	2
	3.26%
	808,680.69

	3
	2.05%
	825,258.64

	4
	-5.15%
	782,757.82

	5
	0.85%
	789,411.27

	6
	-2.74%
	767,781.40

	7
	6.56%
	818,147.86

	8
	5.98%
	867,073.10


a) What will be the annual rate of return that Alexander expects to earn next year, if he plans to continue holding Beck Company stocks? (1 Point)

· Annual rate of return that Alexander expects to earn next year, if he plans to continue holding Beck Company stocks = (4.42 % + 3.26 % + 2.05 % - 5.15 % + 0.85 % - 2.74 % + 6.56 % + 5.98 %) / 8 = 1.90 %.

b) What annual rate of return that Alexander expects over a six-year horizon from holding Beck Company stocks? (1 Point)

To answer this question, we have to calculate the geometric average for the last six years.

· Annual rate of return that Alexander expects over a multi-year horizon from holding Beck Company stocks = ((1 + 2.05 %) * (1 - 5.15 %) * (1 + 0.85 %) * (1 - 2.74 %) * (1 + 6.56 %) * (1 + 5.98 %))^(1/6)) – 1) = 1.17 %.
9. Suppose you recently graduated from Bilkent University Department of Tourism & Hotel Management and you are evaluating an investment in two companies’ common stocks. You have collected the following information about common stock of Firm A and Firm B:
	
	Expected Return
	Standard Deviation

	
	
	

	Firm A's Common Stock
	15.05%
	18.43%

	Firm B's Common Stock
	20.32%
	23.56%

	
	
	

	Correlation Coefficient (A - B)
	0.45


Furthermore, suppose you decided to invest 60 % of your fortune in company A’s common stock and the remaining in company B’s common stock.

a) What is the Expected Rate of Return on your selected portfolio? (1 Point)

· Expected Rate of Return = (60 % * 15.05 %) + (40 % * 20.32 %) = 17.16 %.
b) What is the Risk of your portfolio measured as a standard deviation? (1 Point)

· Risk = sqrt(60%^2 * 18.43%^2) + (40%^2 * 23.56%^2) + (2 * 60% * 40% * 0.45 * 18.43% * 23.56%)) = 17.46 %.

c) If the correlation coefficient between common stocks A & B returns falls to 0.05, calculate the Expected Rate of Return and Risk on your portfolio? What do you conclude? (2 Points)

· Expected Rate of Return = (60 % * 15.05 %) + (40 % * 20.32 %) = 17.16 %.
· Risk = sqrt(60%^2 * 18.43%^2) + (40%^2 * 23.56%^2) + (2 * 60% * 40% * 0.05 * 18.43% * 23.56%)) = 14.88 %.

→ Here, we can conclude that as the correlation coefficient between 2 common stocks decreases, the risk associated with the portfolio decreases also (assuming no other variable changes). On the other hand, there is no effect on the expected rate of return of the portfolio.

GOOD LUCK!
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